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Discuss this Question paper with your parents and teachers.
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Who among the following did use mirrors as weapons
to destroy enemy tanks with * Ji
sunfight?
A) 1‘.:3&)5 Newton
B) D08 Fermat
C) @688 Archimedes
D) &S Pascal P %
2 ENGLAND % 1234526 m:> FRANCE & 78.)291
e 20T GREECE 5 O D&&omr Jeds?
if ENGLAND is shown as 1234526 and FRANCE as
785291, how is GREECE to be shown? ({C )
A) 381171 B) 381191 C) 832252 D) 835545
3 eodpbah 45305 oTE o =HHHT 88 087
Which of the following is observed as the
International Day of Biodiversity? (
A) 55 24 April 24 8) =5 5 Jun
C}&2025 1 December 1 D)3 22 May 22
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43006 S BEFic T Slo BB GHiidred
ﬁ&u Xraodieo? Whid'l of the following phenomena is

9=
D) S 22 =035 None of the above
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PORS Do o8 Ehod sigos. ()

m the figures PQ,R,S shown below in the ascending
order baed-w\et force actmg on the rope.

A) P<Q<R<S B) 5<R<Q<P () S<Q<P<R D) R<P<Q<S
8 Dend Jo¥?
Is the value of 54545457

|| nucleus is called, ‘cytoplasm’, How is the liquid i
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""i:-'“'_: =55 ? Who among the following d;d invent

(A

a device to measure human heartbeat?

(A)
A] QOO o William Harvey
8) Rtfos» a’ﬂma Girolamo Fabrici
C) B2 88 René Laennec
D) éaﬂa*és aﬁri)\é Marcetio Malpighi

8. Lﬁﬁ; i-bk_wé el o 505
=5soms s v (7T) 8%

‘ﬁﬁ&" On which of the
fqlowfwdaﬁ do we abserve Einstein’s
Birth Anniversary and also as the 7T - Day?
A) D50 28 February 28
C) 5»B) 14 March 14

(
B) &S 1 April1
D) =% 1 Junel

c

9.5 -..-.\.%u au@a‘?&% 5580 &) B8 Sorgo R
5. Zoso %0 af) B8S Sergo S? 1

[ The liquid between a biologlcal cell wall and the

ide

2%

the nucleus called?

A) @5&° aS  Protoplasm
B) {8 Sresdd Nucleoplasm
c) 5&953:;»90 Cellular fluid
D) B s6d» C BandC

10. 5%=5 =% Mgmfbw 58803
9816070 oo™ ﬁrbo&.oqi ® Eee
ol | sample solution with Phe: hthall_i) and
observed the sample turning into pink. Which
of the following must the solution be?

A) e.5 o A Base,

»

(B
B) e.¥ &30 An Acid

A)1 B) 20

@00 Distilled water D) 258 All the above
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11. 955 oamporl 85780 AP A Iootr?

do we celebrate Indian Constitution Day? (

A) 8556 26 January 26 e

B) §Rowb 26 December 26
55055 ﬁ@ November 26

D) &&'o5 26 October 26

\ihen

12. ab=2, be= 6, cd= 12 ©woxd bd=? ( C )
If ab =2, be=16,td 5 12 thenbd =7 ‘
A)8 B) 16 C) 12 D) 10

13 $ob >0E° &3 Lo BErONas &%

Daboore (D 20D moH DB? Which of the
following organisms does NOT perform reproduction
by ‘binary division’ of the organism? ® )

(A}
A) ®&ree Amoeba
C) >x5haHo Paramecium

B) ae{ Leach

D) céefio® Euglena
14. a8%e > 3?6%;6 = oF A8 O oo %o
;U':e;: S5°%? For what purpose has NASA taken up

(B)

DART mission recently?
A) 550 BY S 5T, (55 Seve
B8 Smo ¥ \
In changing the direction of
_meteors and asteroids colliding
with Earth

B) 58 (i{Fo 2 A edrgd
Finding the evidence of water on the Planets
C) Sothn 2 A edarg & HoSto
Finding the traces of water on the moon

D) 259 All the above

15.2022 SoS8ont i 3 eged® J568 Fas
w508 Sinoh? Who has been awarded the NOBEL

16.9(806°9 P,Q,R,S 3 SipHois © Seniian odoocn
aove sgrbor 8585 [Ebod® ekl : :
Arrange the objects P,Q,R,S shown in the figure in

.' “discending order based on the Normal force they exert

A)Q>P>R>S
C)R>@>S>P

D)S>R>Q>P

17.8c8ar0E" CONCENTRATE S5508%) ofdioos®
AGED Htso 28?7 Which of the following words -
cannot be formed by using the letters in the word

CONCENTRATE? ( Dy
A) TREAT B) CONCERN C)TRAIN D) CENTRE
18.zcéJe dgoéfé.aié;é reethd® Do ady 8 58
Aok 208 DS a6h [

0868 oY) dbotrh? What S
is the process of first injecting low
doses of toxin into the blood of an & ;

animal and later on using its blood serum as an antidote to

cure a patient poisoned by that toxin, called? (D)

A) 25535 B) R0F35%
Serotherapy Stingtherapy

C) s*&Sa6% D) e536%
Cognitivetherapy Osmotherapy

19,808 06 Sio%isto drbo T 567 ( B)
Which of tfling plants does show Thignotrophism?
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(€)

Prize in Physiology or Medicine for the year 2022? ( A )

(A) (8) () (D)
A) TDE =0aHH B) 065
David Julius Svante Paabo
C) a0t dpors D) @85 BDabHeh)

(D)

20._ st f’i"a’g Kbg VIS
‘The greatest invention of man is
is this?

OHBSH?
Book’; whose quote

A) QS Charlie Chaplin
B) 38 ol Mahatma Gandhi
C) &80k Bhagat Singh '

D) sq]g msggs Albert Einstein
21.(808 Sogpe SHndd
1080Sc8. Find the next
12,13,23,24,34 35,7,7.

Ales Bialiatski




22 o aB HoP Siond J85H? el

who among following did write on Origin of Species?

(A)
A) e558) Lamarck
C) DSOS Linnaeus

(8) (D)
B) (:“{‘,:_15 Darwin
D) féc*geaﬁ Newton
23 (SHoSEnE® ToBOIOT woddE PO FIY
05% (EE BONMGH oD Séo S
28?7 Which country did build the first
liquid mirror Telescope for space

exploration? (C )™
A) mo8a5e India B) 35 Japan (i
C)ods= USA D) 3= China

24808 >0&° S35 &8 Ho seeo Dogge ‘oq.mv;f:“o
28? Which of the following sets of quantum

numbers has the least energy? (D)
A) n=3,1=0,m=0,s=+1/2 B) n=2,1=1,m=-1,5=-1/2
C) n=4,1=0,m=0,s=-1/2 D) n=3,|=1,m=-1,5=-1/2

25.“cre® DODHE” & TASrG?
Which vitamin is called “Beauty Vitamin”? [§
A) D&DB-A Vitamin-A
B) DWE~C Vitamin-C -
C) &S-D Vitamin-D
D):)babs E Vitamin-E

26. 575900 BEDN Tyodede 3&:;@&; o8 e | f
“07 Sokore S8 600 O @otnod?
What is the reason for muscle pain if a man does over
exercise for first day? ( 8 )
A) o’gﬁ epo NHBe sPdko
Releasing lactic acid
8) Sigad Ndde Bk
Releasing Nitrogen
0) r&° P68 eipo DB
se550 Releasing HCI

gmsﬁau the above
27. Bob >6&° $Os*R s HBoUCL. (D)
M of the following is not a proper match?

A) £0°06 - Dofghabo  Chlorophyll- Magnesium ¥
B) Sr2efAS -~ @9&0 Hemoglobin - Iron ¥
() Sermeo - wold 65%m Saliva - Intestinal Juice™
D) DS P12 - S Sorods

Vitamin B12 - Cynacoblamin

(A)

28. (808 >8&° PHsh 2b6? (O)
Which is the odd one from the following?
A) s¥do Velocity B) yisigodo Displacement

€) #mo Acceleration D) :{)& Speed

29. & o ‘ami:ﬂifa SEErS ddanod EEND
©HLPn? On which planet does the Sun rise on West

(A )

and sets in the East? -

A) giead Earth

B) e (N&*0 Mercury
C) BB (15520 Venus

D) ®oreSE (is*0 Mars

30. 1,2,3,4 ©o3uid ad&rHod) eosSw Rl
SHore TPEHKONS oSy Hoggen 7

How many 3 digit numbers are formed from 1,2,3,4
without repeating any of the number? ()
A) 20 ° B) 24 C) 10 D) 14

31. BN s8N o8 DLSo o 20D59% ob I
Sotbenrr DESFanod. &ocmé 8 D Boid éé:;a’:
DSeso Bobod? - (9)B
A beam of white light passing
through a prism is split into its
constituent colours. Which of
the following colours does
undergo the least refraction?
A) QB Red B) &z Violet
G) eséﬁ-‘.ﬁg Green * D) deo Blue .

%‘a’noé& D:3Bew @L%dﬁ: i ealfnrﬁi.’no&:‘?

A) qnéwm Solids
C) Traio o)ww Gases

33.8a Q) 06 -‘oé\ HBseol
Heek 8noten, 80A & 500 08 | Tt
=56 (B omwoll Bod S8 .

o' Hss SS RS E08? "
Teja dissolved a few crystals of copper
sulphate in a tumbler with water. Which
is the torrect method to get back copper :
sulphate crystals from the solution? g‘
A) 68580 Sublimation  B) SESFE Filt

Q) Wmmm D) :nb@-’v&»
34, (80d =RE° sdogat_gﬁ'é’om R T L::'a’mo

587 Which of the followirig aqueous solution d
conduct electricity? ( )

A) sifond sep$S Ethyl Alcohol  B) RS Acetone
<) gscmo esti3S Sodium Acetate D] Boa§ gemne

B) 558 & DT Ltqu1ds
D)A B» C AandC

Y

;B )



35, 3cinen DEAES Blomabd wotrd. doHEd?
People says Devils will be seen in darkness only,
Why? D )
A) Si%en SR FiEn Babged Gokh o
They Don’t have the courage to move in day time
. B) Sifen SDESotron soe)g
" They sleep in day time

%&aoéﬁa{go sof

eThe E?dstence of ghosts has not been scientifically
proven. Their movement at night is an illusion.

36,1800 & sigHb B 08 eSadso Da?
Which of the following organ is not infected by

D)

Cancer?

(D)

(€)
A) aED08&en Lungs B) /008 Heart
C) =Bahdw  Liver D) éé&a’m Skin
SF:'M Dod Bhes &ﬁsﬁa‘.mé; SO0 . 8Y

&87 Which of the following zones does indicate

absgrption of latent heat of liquefaction? . ([

‘19 a-3,b-2,c-4, d-1

P

Hod o°R @dw 260%359

38. 8ob b0 ; identify its atomic

ﬁa&oéu& ? From the |llustrat|on,
@MDEI ? 3 ',x

(Pc ).

39. agsBSol., Match the following.

2) 69 Bome 1) exeid a8f(Ks
Fire ghosts - . Ignition temperature

b) S8l 2) Erabrren TR €8
Black magic Chemically coated knife -

¢) Dy o0& 8o 3) el

* Blood from lemon Histeria

d) o SKE 1) D5w%es®) FPYHLS Hoto

Fire walk Burning phosphorus in bones

A)a4, b-3,c-2,d-1 B)a-1,b-2,¢:3,d-4

D) a-1, b-3,¢-2, d-4,

40.% (808 wozed® PRabore Wirhosadsd a2
Which of the following is scientifically proved? () -
A) T8 Gred =) 20A8 NP HEd "
If delivery takes place at night, a boy will be born &
B) oSraryy 8% HAB o emeed )
If baby born on no moon day will become atheif
C) &~d|808) B8 )0 59’04 Eloda =i

Coconut water is healthier than cooldrinks

D) oa%é 00t EPdsren HBEREN0 Hodd
Matching horoscopes before marriage is good -
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